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"HOMEWORK...

- Worksheet - Ambiguous Case.pdf

October 25, 2016

Do questions #%92, 4agf) 53@

MEMORIZE!!!

Criteria for the Ambiguous Case...
Must be given SSA

Given angle is acute

a<b b a
*** If ALL 3 criteria are met, then...
CALCULATE THE ALTITUDE

alt=bsin A | A B
CASE 1: a < altitude; there is NO SOLUTION

CASE 2: a = altitude; there is ONE SOLUTION [Right Triangle]

CASE 3: a >altitude; this is the 'AMBIGUOUS CASE'.. TWO SOLUTIONS
1) Acute Triangle (angle, 8, is found with Law of Sines)
2) Obtuse Triangle (angle is 180°- 6)
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6  Two forest fire stations, P and Q, are 20.0 km apart. A ranger al station (Q sees a
fire 15.0 km away. If the angle between the line PQ and the line from P 1o the %ss A

212, find how far station P is from the fire. l{
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Review for Test - Lots of Practice from the Texthook!!!

Chapter Review... Page 128
(Frequently Asked Questions) Page 193
Page 174
Page 199

Practice Questions... Page 129 #1-9
Page 194 #1-12
Page 179 #1-9
Page 200 #1-8

Practice Tests... Page 192 #1-8
Page 198 #1-1
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Attachments

Q Worksheet - Ambiguous Case.pdf
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A Express lengths to one decimal place and angles (0 the nearest degree.
| For each AABC, decide what type of solution you will obtain for £B. |
(a) a=45.b=715, LA=176° "
(b) ZA=48°a=26b= 22 i
(c) b=576,a =730, LA =31°
(d) a=156,b=254, LA =69° .
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(b) sinA= 0.3907 5‘ - £
O

(a) sinA =0.7431

(c) sinA=0.7169 (d) sinA= 0.8686

4  For each triangle, find the measure, OF possible measures. of angle 6.
60.5 Q

5 Solve each AABC.

(a) a=655b=184, ZA=51°
(b) p=15,¢=554£B=175°

(c) b=163,c= 18.2, 4B =54°

(d) b=255.¢c= 22.5, £C=62°

20.0 km apart. A ranger at station Q sees a

6 Two forest fire stations, P and Q, are
the line PQ and the line from P to the

fire 15.0 km away. If the angle between
fire is 21°, find how far station P is from the fire.

d A, swims 9.2 km to Island B and then

7 A marathon swimmer starts at Islan
. how far does she have to swim back to

8.6 km to Island C. If Z/BAC =52°
Island A?
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